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Second Year
A - ACCOUNTING

Paper — V : Taxation
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SECTION - A

Answer any Four of the following

Casual income.

dircsq){'.bé e35°0DI3M.

Assessment year.

S0y X)D;dsa X)oéé“)é;in.

Long-term capital gains.

égvaé ST ergTeen.

Partly exempted income.

S0y 3008 FFE300me WFooBeES esreaHIN.

Aggregation of income.

e5°ale) «\’)51)3 BoHess.

Profit lieu of salary.
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Penalty.
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(4 x5=20)



SECTION -B

Answer any Two questions (2% 10=20)

2) Explain the previous year.

1 $03& o7y DS38oWB0&.

3) Smt. Latha, an accountant in a Limited Company at Hyderabad submits the following

particulars of her income for the previous year.

a) Salary @ Rs. 12,000 p.m.

b) D.A. @ Rs. 3,000 p.m. (enters into salary for calculating retirement benefits)

c) Bonus Rs. 10,000 p.a.

d) Commission Rs. 12,000 p.a.

e) Own contribution to R.P.F. @ 15% of salary and the company also contributes
similar amount.

f) Interest on Provident Fund at 16% rate Rs. 6,400.

g) Free furnished house at Hyderabad. Fair rent of the house is Rs. 18,000 p.a.
Cost of furniture is Rs. 15,000.

h) 18 H.P. car is provided for official and personal purposes. All expenses of the
car including driver’s salary of Rs. 500 p.m. are paid by the employer.

1)  Education allowance for 3 children @ Rs. 100 per child, p.m. paid by the
company.

j)  Profession tax paid by her Rs. 1,200.

Compute her income from salary for the assessment year.
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Mr. Sadanand submits the following information:

Net Rental income of the year (after deducting following items) — Rs. 1,20,000.
Depreciation — Rs. 10,000
Municipal taxes 10% of MRV — Rs. 5,500

Lift maintenance charges — Rs. 4,500
Vacancy — Rs. 12,000

Pay of Watchman — Rs. 12,000
Salary of Gardener — Rs. 12,000
Collection charges — Rs. 4,000

Bank commission — Rs. 1,000

Legal expenses on recovery of rent — Rs. 2,000

Compute Mr. Sadanand’s income from house property for the previous year.
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SOSePERdd S50 E°. 12,000
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What are the powers of ITO?

ITO &%), efsoren 2 ?

SECTION - C

Answer any Two questions (2%x20=40)

State the rules relating to carry forward and set off of losses.

Sapen 500505 BIFD HLH, 20BTLH F020BDS DAL BeOHI.

Calculate the taxable income of Mr. Kumar from the following:

Rs.
Interest on government Securities 18,500
Income from Business 5,000
Short term capital gain 22,000
Long term capital gain 2,500
Income from horse races 15,000
Income from playing cards 16,000
Brought forward business loss 12,000 (2009-10 related)
Unadjusted depreciation 6,000 (related to 2009-10)
Long term capital loss 47,000 (related to 2010-11)

Brought forward loss from horse races 25,000 (related to 2009-10)
Speculation loss 30,000 (related to 2009-10)
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S0 VBl 5& 18,500
avéavts e3p°0o 5,000
Be0y5°O¥ 33&8&& orgo 22,000
Bgsvébé b&gm& o 2,500
B0 1HOoPe A BPO° &TPado 15,000
Dz esaeado 16,000
300K OIS T8 S350 12,000 (2009-10 & 502080:58)
SEeren 52D BKHS 6,000 (2009-10 & 50208058)
535»&§ depad Sgo 47,000 (2010-11 & 5020803358)
8% 10[T7e S50 300D By08 25,000 (2009-10 & 502080:58)
088 T8 S0 30,000 (2009-10 & 502080I:58)

Explain the provisions relating to TDS.

TDS % 502008098 Jeodden IS805080.

X and Y are partners of a registered firm. The profit sharing is 3:2. The firms profit
and loss account disclosed a net profit of Rs. 60,000. The following amounts stored

debited to the profit and loss account:

Rs.
a) Interest paid to X 5,000
b) Salary paid to X 8,000
c) CommissionpaidtoY 12,000
d) Salary paidtoY 8,000
e) Bad debt reserve 7,000

Compute the total income of the firm and allocate it between the partners.



33°BS 2.8 x)ogé‘ X, Y PR, T°8 SO 3:2 :):})gges‘ F0WE eI, F0F STPIL rEe &,

60,0000 DEB &g, BD08. &3 808 @oTed ergie gracd GHE Sabad smmyown:

5.
a) X% 39ods sgen 5,000
b) X% 39ods Ao 8,000
c) Y © 3909 sDosd 12,000
d) Y 39025 fo 8,000
e) oo are Bastdg 7,000
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